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Time : 3 Hours   Max. Marks : 80 

Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Explain the nature and scope of management 

accounting. In what ways do the roles and 

responsibilities of management accountants differ from 

those of financial accountants ? 

izca/k ys[kkadu dh izd`fr rFkk {ks= dks le>kb,A izca/k 

ys[kkdkj dh Hkwfedk,¡ rFkk mŸkjnkf;Ro fdl rjhds ls 

foŸkh; ys[kkdkj ls fHkUu gksrs gSa \ 

2. What is the necessity for having ‗Optimum Capital 

Structure‘ ? Explain the Traditional Approach to 

determination of Optimum Capital Structure. 

^b”Vre i¡wth lajpuk* dh D;k vko’;drk gS \ ^b”Vre iw¡th 

lajpuk* ds fu/kkZj.k ds fy, ikjaifjd n`f”Vdks.k dks 

le>kb,A 

3. From the following details relating to the Accounts of 

G. Ltd., prepare a cash flow statement : 

Particulars 
31-3-2015 

Amount (`) 

31-3-2016 

Amount (`) 

Liabilities and Capital   

Share Capital 10,00,000 8,00,000 

Reserve 2,00,000 1,50,000 

Profit & Loss Account 1,00,000 60,000 

Debentures 2,00,000 – 

Provision for Taxation 1,00,000 70,000 

Proposed Dividend 2,00,000 1,00,000 

Sundry Creditors 7,00,000 8,20,000 

 25,00,000 20,00,000 
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Particulars 
31-3-2015 

Amount (`) 

31-3-2016 

Amount (`) 

Assets   

Plant and Machinery 7,00,000 5,00,000 

Land and Building 6,00,000 4,00,000 

Investments 1,00,000 – 

Sundry Debtors 5,00,000 7,00,000 

Stock 4,00,000 2,00,000 

Cash in Hand/Bank 2,00,000 2,00,000 

 25,00,000 20,00,000 

(a) Depreciation @ 25% p. a. was changed on the 

opening value of Plant and Machinery. 

(b) During the year, one old machine costing  

` 50,000 (Written Down Value ` 20,000) was 

sold for ` 35,000. 

(c) ` 50,000 were paid towards Income tax during 

the year. 

(d) Building under construction was not subject to 

any depreciation. 

th- fyfeVsM ds [kkrksa ls lacaf/kr vxzfyf[kr fooj.kksa ls 

jksdM+ izokg fooj.k dks rS;kj dhft, % 
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fooj.k 
31-3-2015 

/kujkf’k (`) 

31-3-2016 

/kujkf’k (`) 

ns;rk,¡ rFkk iw¡th   

va’k iw¡th 10,00,000 8,00,000 

lap; 2,00,000 1,50,000 

ykHk&gkfu [kkrk 1,00,000 60,000 

_.ki= 2,00,000 – 

djk/kku ds fy, izko/kku 1,00,000 70,000 

izLrkfor ykHkka’k 2,00,000 1,00,000 

fofo/k ysunkj 7,00,000 8,20,000 

 25,00,000 20,00,000 

 

fooj.k 
31-3-2015 

/kujkf’k (`) 

31-3-2016 

/kujkf’k (`) 

ifjlaifŸk;k¡   

la;a= rFkk e’khujh 7,00,000 5,00,000 

Hkwfe rFkk Hkou 6,00,000 4,00,000 

fuos’k 1,00,000 – 

fofo/k nsunkj 5,00,000 7,00,000 

LdU/k 4,00,000 2,00,000 

gLrLFk jksdM+@cSad esa jksdM+ 2,00,000 2,00,000 

 25,00,000 20,00,000 
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¼v½ la;a= rFkk e’khujh ds izkjafHkd ewY; ij izfr o”kZ 25% 

dh nj ls kflr fd;k x;kA 

¼c½ o”kZ ds nkSjku ` 50]000 dh ykxr okyh ,d iqjkuh 

e’khu ` 35]000 esa foØ; dh xbZ ¼ kflr ewY;  

` 20]000½A 

¼l½ o”kZ ds nkSjku ` 50]000 vk;dj dk Hkqxrku fd;k 

x;kA 

¼n½ fuekZ.kk/khu Hkou fdlh Hkh ewY; kl ds vUrxZr ugha 

FkkA 

4. Shakti Ltd. having 10% as cost of capital is 

considering the following (financially) mutually 

exclusive projects : 

 
Year 

Project A 

(`) 

Project B 

(`) 

Cost 0 1,00,000 1,20,000 

Cash Inflows 1 20,000    – 

 2 60,000 60,000 

 3 40,000 60,000 

 4 30,000 80,000 

 5 20,000     – 

In respect of the above  information calculate which 

project will be preferable using Net Present Value 

Method and Profitability Index. Present value of  

` 1 @ 10% is 0.909 for first year, 0.826 for second 

year, 0.751 for third year , 0.683 for fourth year and 

0.621 for fifth year.  
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‘kfDr fyfeVsM ftldh iw¡th dh ykxr 10% gS] fuEufyf[kr 

ikjLifjd viothZ ifj;kstukvksa dk dk ¼foŸkh; :i ls½ 

ewY;kadu djrh gS % 

 o”kZ ifj;kstuk A (`) ifj;kstuk B (`) 

ykxr 0 1,00,000 1,20,000 

jksdM+ varokZg 1 20,000         – 

 2 60,000 60,000 

 3 40,000 60,000 

 4 30,000 80,000 

 5 20,000       – 

mi;qZDr lwpukvksa ds vk/kkj ij ‘kq) orZeku ewY; fof/k rFkk 

ykHkiznrk@ykHknk;drk lwpdkad dk mi;ksx djrs gq, Kkr 

dhft, fd dkSu&lh ifj;kstuk dks vf/kekU;rk iznku dh 

tkuh pkfg, \ ,d ` dk orZeku ewY; 0-909 izFke o”kZ]  

0-826 f}rh; o”kZ] 0-751 r`rh; o”kZ] 0-683 prqFkZ o”kZ rFkk  

0-621 iape o”kZ esa gksxkA 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 
questions of eight (08) marks each. Learners are 
required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ¼04½ ij la{ksi esa ppkZ dhft, % 

1. Importance of adequate Working Capital. 

leqfpr dk;Z’khy iw¡th dk egŸoA 
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2. Nature of Financial Statements. 

foŸkh; fooj.kksa dh izd`frA 

3. Types of Leverages. 

mŸkksyd ds izdkjA 

4. Weighted Average Cost of Capital. 

iw¡th dh Hkkfjr vkSlr ykxrA 

5. Principles of Responsibility Accounting. 

mŸkjnkf;Ro ys[kkadu ds fl)kUrA 

6. B. Mohan & Co. sells goods on cash as well as credit 

(though not on deferred installment terms). 

The following particulars are extracted from their 

books of accounts for the year 2014 : 

 ` 

Total Gross Sales 1,00,000 

Cash Sales (included in above) 20,000 

Sales Returns 7,000 

Total debtors for Sales as on 31-12-2014 9,000 

Bills Receivable on 31-12-2014 2,000 

Provision for doubtful debts on 31-12-2014 1,000 

Total Creditors on 31-12-2014 10,000 

Calculate the Average Collection Period. 

ch- eksgu ,.M dEiuh jksdM+ rFkk _.k ij eky foØ; djrs 

gSa ¼gkykafd LFkfxr fdLr ds fu;eksa ij og foØ; ugha djrs 



 [ 8 ] BC–13 

B-70 

gSa½A o”kZ 2014 dk fuEufyf[kr fooj.k mudh ys[kk iqLrdksa 

ls izkIr gqvk gS % 

 ` 

dqy ldy foØ; 1,00,000 

jksdM+ foØ; ¼mi;qZDr esa lfEefyr½ 20,000 

foØ; vkxr 7,000 

31&12&2014 dks foØ; ij dqy nsunkj 9,000 

31&12&2014 dks izkI; fcy 2,000 

31&12&2014 v’kks/; rFkk lafnX/k _.kksa ds fy, 

lap; 1,000 

31&12&2014 dks dqy ysunkj 10,000 

vkSlr laxzg.k vof/k dh x.kuk dhft,A 

7. Tulip Ltd. produces a product which has monthly 

demand of 4000 units. The product requires a 

component A which is purchased at ` 20. For every 

finished product one unit of component A is required. 

The ordering cost is ` 120 per order and the holding 

cost is 10% per annum. 

You are required to calculate Economic Order 

Quantity. 

V~;wfyi fyfeVsM ,d mRikn dk mRiknu djrh gS ftlesa 

4000 bdkb;ksa dh ekfld ek¡x gSA mRikn dks ?kVd ^,* dh 

vko’;drk gksrh gS ftls ` 20 esa [kjhnk tkrk gSA izR;sd 

iw.kZ mRikn ds fy, ?kVd ^,* dh ,d bdkbZ dh vko’;drk 



 [ 9 ] BC–13 

B-70 P. T. O. 

gksrh gSA vkns’k ykxr ` 120 izfr vkns’k rFkk laxzg.k ykxr 

10% izfr o”kZ gSA  

vkidks vkfFkZd vkns’k ek=k@ferO;;h vkns’k ek=k dh x.kuk 

djuh gSA 

8. ABC Ltd. has just declared and paid dividend at the 

rate of 15% on the equity shares of ` 100 each. The 

expected future growth rate in dividends is 12%. Find 

out the cost of capital of equity shares given that the 

present market value of the share is ` 168. 

gky gh esa ,chlh fyfeVsM us ` 100 izfr lerk va’kksa ij 

15% dh nj ls ykHkka’k ?kksf”kr fd;k gSA Hkfo”; esa ykHkka’k 

dh o`f) nj 12% visf{kr gSA ;fn orZeku esa va’kksa dk 

cktkj ewY; ` 168 gks rks lerk va’kksa dh iw¡th dh ykxr ls 

Kkr dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True or False against the following : 

fuEufyf[kr ds lkeus lR; ;k vlR; fyf[k, % 

1. Financial Statement Analysts must be sure that 

comparable data are used among companies to make 

the comparison valid. 
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dEifu;ksa ds e/; oS/k rqyuk ds fy, foŸkh; fooj.k 

fo’ys”kdksa dks ;g lqfuf’pr djuk pkfg, fd rqyukRed 

vk¡dM+ksa dk gh mi;ksx fd;k tk,A 

2. Debt-Equity Ratio is a measure of long-term solvency 

of a firm. 

_.k&lerk vuqikr ,d QeZ dh nh?kZdkfyd ‘kks/ku {kerk 

dk eki gSA 

3. The NVP and IRR always give same decision. 

‘kq) orZeku ewY; (NPV) rFkk vkUrfjd izR;k; nj (IRR) 

lnSo  ,d tSls fu.kZ; nsrs gSaA 

4. Management Information Systems are helpful in 

bringing timely changes in the organization.  

izcU/kdh; lwpuk iz.kkyh laLFkk esa le;kuqdwy ifjorZu esa 

lgk;d gksrh gSA 

5. An Investment Centre is responsible for both profits 

and investments. 

,d fuos’k dsUnz ykHk vkSj fuos’k nksuksa ds fy, mŸkjnk;h 

gksrk gSA 

Fill  in the blanks : 

fjä LFkkuksa dh iwfrZ dhft, % 

6. ............ Reports are related to the operation of business 

activities. 
----------------

 izfrosnu O;olk; dh xfrfof/k;ksa ds ifjpkyu ls 

lEcfU/kr gksrs gSaA 
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7. In ABC Analysis, ‗A‘ class items require ............ 

control. 

,chlh fo’ys”k.k esa ^,* oxZ ds enksa dks 
---------------

 fu;a=.k dh 

vko’;drk gksrh gSA 

8. ............ Accounting is an essential component in the 

objectives of designing organizational strategy and 

implementing them to achieve business objective. 

laxBukRed j.kuhfr dh :i&js[kk cukus esa rFkk O;olk; ds 

mís’; dks izkIr djus ds fy, bu j.kuhfr;ksa dks ykxw djus 

esa 
---------------------

 ys[kkadu ,d vko’;d ?kVd gSA 

Indicate the correct answer-option. 

mŸkj ds fy, lgh fodYi dk pquko dhft,A 

9. Which one of the following answer options is not an 

objective of Fund Flow Analysis ? 

(a) Working Capital Utilization 

(b) Statutory Requirements 

(c) In raising new finances 

(d) As an instrument of planning and control 

fuEufyf[kr esa ls dkSu&lk mŸkj fodYi dks”k izokg fo’ys”k.k 

dk mís’; ugha gS \ 

¼v½ dk;Z’khy iw¡th dk mi;ksx 

¼c½ lkafof/kd vko’;drk 

¼l½ u, foŸkiks”k.k esa o`f) 

¼n½ fu;kstu rFkk fu;a=.k dk ,d lk/ku 
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10. If the expected level of EBIT exceeds the indifference 

point : 

(a) The use of debt financing would be advantageous 

(b) The use of equity financing would be 

advantageous 

(c) EPS will reduce 

(d) None of the above 

;fn visf{kr C;kt rFkk djksa ls iwoZ dh vk; mnklhu fcUnq 

ls vf/kd gks rks % 

¼v½ _.k foŸkiks”k.k dk mi;ksx ykHkizn gksxk 

¼c½ lerk va’kksa }kjk foŸkiks”k.k dk mi;ksx ykHkizn gksxk 

¼l½ izfr va’k vtZu de gks tk,xk 

¼n½ mi;qZDr esa ls dksbZ ugha 
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